


Represents the average distance

from any point in the data set to
the mean.

« If the standard deviation is small, all the values of data
are close to the mean.

» The more outliers, the bigger the standard deviation.

* When would the standard deviation be 07?






Variance -

standard deviation
squared  S:somgk st dev
o [ Pop st dev.

S > sample variance
Notation -

O Population variance



Round-off Rule

(In case you missed it the first time.)

Carry one more decimal place than is
present in the original set of data.

Round only the final answer, not values
in the middle of a calculation.
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Find the range, variance, and
standard deviation for each data set.
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Find the standard deviation. 5 5 7 8 8

| x-% |(-%) = 6.0

55466 |J56 =
5| 5-ble | .50 5 F(X 7’3

; 577 :-:([: l%t _ Q.Sw;sw,\w\ﬂwm,
£ | 8—¢.c. / .90 - 5-1

=1.5




Find the standard deviation. 5 5 7 8 8
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Find the standard deviation of the frequency distribution
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Find the mean and the standard deviation of the
frequency distribution.
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Find the mean and the standard deviation of the
frequency distribution.
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